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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 2 hours : Maximum Marks : 80

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamem@n euens eSleungsmen

Read the following instructions carefully before beginning to answer the questions.
dllamésErsE oL wallss AeTLmi@d ety SpasamL. hle|aIsaeT GeaTONs Lilg&aa L.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Gps <deynssdledr yeam urdlamflear eumsmssaild, GasCsnu Casmeuiuger Quar
unelenfler UM SeMSHEHLD HLEI@HLD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions. '

Qbs demsQsr@ulmar  sarstafiiurarfar  oewd QuUpEsHE ereT  HpEssmLTS).
sansreaiuurean eflams@sr@llamear SouusneE <i@ind alsse ar elams0srElGmean Spps)
e weflés Qsr_kisambd.

1.  This question booklet contains 80 number of objective type questions. Prior to attempting to

answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.
Qeucllammgsrer 80 Qamergh eums dlamssmer QsranLg. arariusmiser oL welss
CarLmEh qper, elamgsreaiie) erden eflamasEnd GLib QupmaTeTaneur eaaLmsLD, gGsad fo
usstiser / eflemmésdr FALLLLMDLG ARuL(Bererareur eramueswd sAumsss Qsmeaterab.
efenmsgreiies gGseaid @Geop GoUdar dlamssrmer Quip Ger LUSH BOLRSEEEEGST D
sansreafiiureriib Gsfellss CauarBin. 2snE Gng Asfalssuu@b Carfsmssda gab gnmnsé
QemememliLLom L mg).

2. Answer all questions. All questions carry equal marks.

simansg elamssEnsEn dloLwalss Cauampn. Smass ofamés@d sowrer wHIQUEaTSHT
Qarar_enau. :
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

aremriugnyfler udQeuaranan Gaiclamssraflan G cuag LsssHL sHOGsaT EiGsLILIL (HdTer
QL sdle erps Ceuam®ib. eflammssrafles Caum eransuild eT(PHs sl 5.

The sheet before the last page of the question booklet shall be used for any rough work.
elenrsgrafler s d LGssHDE (e usssHla rough work erpdl urités 2 LCWITESg)& Cameraab.

(a) Each question comprises of four responsés i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
.correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
‘OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) eqaGarm alamalpgn (A), B), (C), (D) eear preng efleLser QarhHassuul (Herars).
Meremriugryi Seupbled gGsaib @ sflurear el amwus Gsirey Qe G, QanIsEE
Cupul L sfwurer eleLaer e elamalngE Q@muusTs smHame, jeundled ereucien s
sflwreng eren s@HgISHTaGarT, SdieflaLemw Hipdl @ sriL CauarGib.

(b) eravaurdlmibay, e elamelnE @G am elamLmws srear CarbhsHés Gauam(Hib.

© om Namdhe eamég Copult el ksald eloLwelssiiuymberd jeuaia
SUDTATSTS SMHBLILLD, Seuelameilng wHGLIET auphIsILL DT LTS

(d) OMR dlerrs srafled @hssuul L sflurar e _seners Qurmiss, Gorss wWHUGLTESET
auphsLILEDL (@ edamrellpE e el gdld (GOl ) BlipalliL el w  GGW wiGlue

QULEIS GarTEsle e (HHEIs Garareriu(ib).

Do not mark the answers in the Question Booklet.
Aamrssrafer ellen_seners GMULIL_& Fal 7).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

Aamemriiugmyi, elamssrefien orhs @ UsssamzLb, Bestaur dag FiflssCGar sairg. Csiey
penLQumib Curg), elamssrener Cara) sl swsei B QeualiCu erT(hgg Csae g@ind SeoLwrg).
Csira| (pigbs WerarCr ellamgsraner er(ggi& Gewa sigiwdssiu@a.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupseai  iflejorsaie gCsayn Bopuu@Cuowreammd Csraurmemud aTHEGL g mear /
BL_aUlg Een&E&5E 2 ararrs Crifl Bib.

In case of doubt, English version is the final.
Mammssaile spCasllmLden, g mde ey eld Aar@ssiiulHerer ellamasGer Gmdlurang).
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2.

3.

Which equipments must always be with BA Set?
(A) Distress signal unit (B) Lamp ‘
(C) Personal line WJ) All of these
ep&asmedlenws LweruR S Curg) 2 L6 eT(HS5 Qe Calammiql 2 LISKTERTRIGET 6reme?
A) wevl e Hsared wafl  (B) Caubds
(C) unsare eneven _ (D) Cupambdlu siewansgib
If canteen is provided in the upper floor, what fire protection shall be provided with?
\AA) Sprinklers (B) Drenches
(C) Hose reel hose (D) Down comer
Guoed g uildd Caeme it enaUSSLILILLTED 6THS euamsirear & LUrgsTiiL el Bineuiiu
Couamr(pib?
(4) Qgefliiumen B) grenGar
(C) Capmev oo Cammev ' (D) . Layem antbiom
0°C, is equal to?
V”A) 32°F (B) 212°F
(C) 273°F ' - (D) 373°F
0°C, erenugy Spsarr iarall i H(E FLOOTEGLD?
A) 32°F B) 212°F
(C) 273°F (D) 3732
What is the nominal flow of the foam making branch 10 model?

(A) 230Vm V™ (B) 4551m
(C) 910 Vm | D) 2251Um

Gumib Coali Gigrena enuits wom_e 10-ar QeuafluiL (B Smei ereuecuare,?
(A) 2301Vm ' (B) 4551m
(C) 910Vm D) 2251VUm

3 029/DD/20
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5. How often Ladder has to be tested?
(A) Every month (B) After used at the fire ground
(C) Once in six month . MD) All of these

et ereuauate] STSENE RHpenn CerdlésiiuL. Geuamm(pHin?
(A) LTSD REHWP®D —

B) & elusg evswsdld LwaTURSSIULL YDE

©)  6urss8dE @G YD

(D) Cuhesadu @S D

6. What is friction factor of 63 mm dia hose?

w*TA) 0.005 (B) 0.007
(C)  0.009 (D) 0.003

63 OIS o9l _L_tb Qsrenr Bredll® Grullen 2 Frilie| eTey cTeUeLeTe,?

(A) 0.005 (B) 0.007
(C)y 0.009 (D) 0.003
s How many liters are there in a cubic foot of water?
W) 28.3 litters (B) 6.25 litters
(C) 10 litters (D) 12 litters

R Ha #8517 Silq. Q@TeTarerelld) crEF@an Ol L THET SRt 2 6Teng)?
(A) 283l Ligar (B) 6.25 L itser
(C) 10l Liaer (D) 12 S Liisar

8. As per NBC - 2005, Part IV Underground shopping centre classified as?

A E1 (B) D6

©) DT VD) F3

NBC - 2005 e ugd IV ug sarse 6 e arer s}q:rrtjﬁiréaggshu_fr THS CUMS SLLLIOTS
auems LR SsLUBSIDSI?

A E1 _ (B) D6

(C) D7 (D) F3

029/DD/20 4



9 How much area is required to accommodate per person in the refugee area?
A) 05 m? B) 0.8 m?
(C) 0.7 m* 7 \/U)) 0.3 m®
S &S UGS @@ BLIbHEE G weflés ereuauetey LGS ComeuliL@®Ens)?
(A) 058 | (B) 0.8.5°
C) 0.7 © (D) 0.3

10. NRV stand for? _

MA) Non return valve (B) No residual value

(C) Net realizable value (D) New replacement value
NRYV —erenugern eSfleurésid eremen?
(A)  prew ALier eumedeu _ (B) Gor flens®we Goucdwy,
(O GpL Awemasvad Caudyy, (D) B, M9CerevGlair Coucdyy,

11.  What type of fixed installation has to be provided to vaults, enclosed machines, oven
and container storage tanks?

MA) Total flooding system (B) Local application system

(C) Hose reel Hose (D) Down comer system
CTH5 eUepsWITar b LITgaTiiL el eflene wdLierar QurmLser CaAindLib, UL SHd
2 et Gloadlensdr, gaer wpmib Calliy AL kigaserse uiibgrssiu@dns?
(A)  CLmiie LGermi g Sevi_1b (B) Canrssa oieNsCagen Hevib -
(C) Cammen e Gammeiv D) Leyer anbioir el

12. What is Soft suction?

(A)  Delivery hose used on the intake side of pump

\AB) Delivery hose used in the hydrant to fire fighting

(C) Delivery hose used in the fire ground
(D) Delivery hose used in the rescue

FTUIL SHEVEIT GTEITLIS| GTITEN ?

(A) B ef® gurimer ubl @aCLs LGH WD LU S5O
B) BB Grlmen emanL FeRTL g6 Lweru® S8 gmmmgg,«sb
©) 5ol Geridoa § fapei 8 LwaLEssisD

D) B G @rmlenar B L LaflsE LwaLHEsIED

5 029/DD/20
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13. What gas will be produced when Alkali metal react with water or steam?

\A) Hydrogen (B) Oxygen
(C) Nitrogen (D) Carbon

&y 2 Coorsnser garani dag BrreiluLer eflaear Yy Curg GeuafuiHIb eurwy era?
(A) emanlymer -~ (B) =y selleer
(C) empLlyme (D) srruem

14. Expansion ratio of Low expansion foam?
Vvt 2:1t020:1 (B) 200:1to2000:1
(C) 5:1to15:1 (D) 20:1t0200:1

Gonhs ellfleurssb Spaarer pienruiler el feurdsnd elldlgb eremer?
A) 2:1t020:1 (B) 200:1 to2000:1
(C) 5:1tol5:1 (D) 20:1t0200:1

15. Why manila is most preferable for rescue work?
(A) less expensive (B) water proof
(C) softness \A)) all of these

Byl uenflsafley werfleor suilmy e afl@HLLLLIGH S DE)?
Q)  ewasEmney B) B @lLrs seamemo
(C) Queattanio semento (D) Cupemdlu siemerssgib

16. Which gas is used in the stored pressure type fire extinguisher for pressurization?

) Compressed air (B) Nitrogen
(C) Hydrogen (D) All of these

avGLri® Wrar SwenanriiL smedlufiey 2i(pssib Glaw LwerRSSIUELD aum 6rg)?
(A) sbyever(® em (B) enplyeen
(C) anymen (D) Cuhamdu enanss)b

029/DD/20 6



17.  What is approximate composition of Nitrogen in the atmosphere air?
A) 3% (B) 20.93%
W) 79% (D) 3.03%
euaflioaiT_ev STHHIQIETET EBL_ TG |66 GTEH?
A) 3% _ (B) 20.93%
©) 79% (D) 3.03%
18.  What procedure should be followed on the spot While wearing BA Set?

(A) Cylinder has not less than 80% of capacity

" (B) Must be donned in fresh air

(C) Personnel are to work in team of at least two

\/D) All of these

epé&E&Hmetlenwl LweTuRSg D Curg) Wertunn Geueimg W cuLSPEDSET WITEneu?
Q)  pés smedude srom GmLiy Qurss Qsrerarered 80% G@DWITLOGD @@uq
B) gnuewwrer srHHled ppEa smeiludenar anllse

C) ewllarrs QawuadLBsd Gonbss Qe Cu

D)  Cwopamdu HmaSHID

19.  Jet reaction takes place in?

(A) Hose - _ (B) Branch

1C) Nozzle - (D) Pump
Gl eflenarey eruBeus:?,
A) Breli( @Lomi E B) YGyrens
(©) ‘IBITQGU D) wuiby

~ 20. - What is the maximum Diameter of tbe riser for other than residential building as

per NBC?

\AA) 150 mm (B) 175 mm

(C) 225 mm (D) 200 mm

NBC -eér Ly @uul@piy sieLbhsear gelly tﬁlmeugpgﬂg)@ Qrienfler oflsugwirer L b
T GOTET ?

(A) 150 818 B) 175 88
C) 22588 D) 200 &8

T 029/DD/20
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21. Mildew occurs in

MA) Hose : (B) Rope
(C) Tyre : (D) Branches
EMLOGVIg L, qg’;u@mg
A) Brefl® @omi (B) sulim
©) I_qur (D) dewer Gomi

22. What type of suction wrenches generally used in the fire department?
(A) Conventional type - \/03) Universal type
(C) Standard type (D) (A) and (B)

eThs quansLnan F&aven flers Swemanriiy geppuiled LweTLRSSILGADS?
(A)  saQesseger eums B) weleuteve aiens
(C) wCLaCLi( cuens (D) (A) wpmbd (B)

23. If extension ladder exceeds 40 feet what is required to be etjuipped?
(A) Heel (B) Halyard
\/C) Stay poles (D) Hooks

40 =iq 2 wrsHHE Coerer B Ly garfllemar e LCurslLG S8 ComaeiwiTeang) arg)?
A amed (B) Cameowri(y
(C) vCL Gumré D) amodev

94.  Which smoke detector is suitable for aircraft engine nacelles, oil drilling rigs etc?
(A) Ionization detector (B) Optical detector
(C) Sampling detector WD) Ultra violet detector

-s;rrraagrrruu_ CEQFa6dle, c%uﬂ]su g fevedld  fsen Gurrsmgnmm@a;@ @urr@g;g,uarrm Lens

ser(Rlg LiLime eTg)?
Q) wellCueger gL &L mi B) <pligsed Gl sLmm
(C) Gebleflm Qs (D) elgrawGel QL sLmr

029/DD/20 ' 8



25.  FD 60 refers?
~ (A) Fire door 60 seconds fire resistance
\B) Fire door 60 minutes fire resistance
(C) 60* fire door
(D) Fire door 60 inches length

FD 60 erenug) ersenan @Hladmg)?

(A)  Lwr G 60 QsserLev Liwim Glrr@r&efm_s'ojéiu
B) vwwr Crr 60 ;_B]Lé]L.Lb pwir QyedlevL_enev
(C) 60-eugl uwir G

D) wwi Guri 60 @engs Serid

26.  Which of the following defined Oxygen deficient atmosphere? ‘
\ﬂ) Oxygen content below 19.5% (B) .Oxygen content below 20%
(C) Oxygen content below 20.93% (D) Oxygen content below 21%

D EEIDET D DBHFIETET GUETIDEITL ) (GHLPiHlena) eramLig)?
(A) 19.5% gemeuren gy sellgen etey  (B) 20% @mﬁ)mrrem G0N Si6T6
(C) 20.93% Gewmeuren <y sadlmer siatey (D) 21% Gapeurar <y, sadlmen iatey

27. What is the minimum width of the tread required other then residential building as
per NBC - 20057

(A) 250 mm s w1B) 300 mm
(C) 275 mm _ (D) 325 mm

NBC — 2005 e Ly e Guudmliy ULl D DTS wHpn SLigl BISEESE Wiy Uiy sefer
sTOmauEGD LGS (tread) sisewb erauaiere) CemaliuBEng)?

A) 250885 (B) 300 5.8

(C) 2751015 (D) 325188 -

28. What is the maximum Theoretical lift of water for the fire service pump?

MA) 10 m (B) 6m
(C) 8m (D) 13m
Car_urlLarefley Swenemrii] Flewn LIDL| GTEU6IETEY %Qgﬁaﬂ@p@ sameneny GuConm
PyuD? -
(A) 108 B) 6L
© 85 D) 138

9 029/DD/20
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29. Hook Ladder is made up of — Metal?
(A) Gun metal - (B) Brass
(C) Iron L MD) Aluminum alloy
and eremfl - 2 Crassred 2 (HeUTdEsLILLL g,
(A) senGlLe (B) Yszemer
C) @mwby (D) <@blalub el

30. In which one of the following material, fire can be extinguished by smothering

method?

(A) 01l (B) Paint

(C) Petrol  \”tD) Allof these

Spsar_ ahs Qureid § eusgy gdu@b Curg Sow epss Sampe ampudd
SjenanssLILG DS ? .

A) <le B) Quuiemr

C) QuCymred : (D) Cuphsmbdu eensHd

31. Whatis ayarn? :
(A) Individual fibers \1B) Twisting the slivers
(C) Twisting the Yarns (D) Another name of line

WITITG0T 6T GOTMITE) GT 6T ?

A) selssaflurer prisar

B) sallsgaflurer prisemer Hefavig.m Qalizrd oL LiLg)
(C) wriengeer Heflev Clalig SenLULg)

D)  sulpiler @enGenmm QT @D

32. What is the vapor density of Atmospheric air?

(A) 8.5 , B 144
€ 1 D) 22
auafl arLe sTHMler 2,6l L& erenen?

(A) 85 (B) 14.4

© 1 - (D) 22

029/DD/20 - 10



33.

Which one-of the following is not an oxidizing agent?
(A) Oxygen (B) Nitric oxide
(C) Chlorine \D) Hydrogen

Eaam_aupiled erg <y sedlnCansl Siwe?

A) < sdFen B) eplfs ysms@
(C) ECearrfen (D) eam_ e
34.  Why safety clip is provided on the fire extinguisher head part?
(A) To easy handle (B) To carry the fire extinguisher
MC) Prevent accidental operation - (D) " To fix the extinguisher on the wall
Swenentiiy smelluden sevaLigHulen Coliy. el erane QuTmEsILE Hng)?
(A)  eeflsrs LuaLBss B) Sueani-Wmer @5 Qsde
(O saunsorer Qussssmer 50 &8 D) SwueartG-tmer saipdled QUIHSS
35.  In which type of coupling both parts of the coupling are identical?
(A) = Instantaneous (B) Sure lock
(C) Bayonet Vw{D) Hermaphrodite
S ereunile stiuefbidler Grean® LGSsEHD @y CLrd @)méEEb?
A) @erevLanGLaflwen (B) evoir s
(C) euem (D) QaniCGumr.liFenLt_
36.  What is main use of ladder at the fire spot?

(A) Access - (B) Ventilation
(C) Bridging ) A, B) and ()

Sweeni9er Gurg) & sersSled erenflullen sl Lwe eremen?

Q)  siamsd , B) srHCpriLb ghuBsse
(©) Qoarszd D) (@A), B) wpgid (C)

11 029/DD/20
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37.  How much liter air consumed per minute while doing heavier wmg such as
ascending an incline or running?

(A) 40 (B) 20

€ 60 WD) 100

sHewwrear Gaume Sigmaug L@ TNnsH AHdwg @Osw Curarmeundler Guirg ereueueme]
srHm seurdlsseien Curg) 2 erefl(asiLBSng?

(A) 40 SLLi | B) 20 Sl

(C) 60elr (D) 100 ediir

38. Negative pressure refers
(A) pressure higher than the atmospheric pressure
V(B) pressure lower than the atlﬁospheric pressure
(C) pressure equal to the atmospheric pressure

(D) Sometimes more (or) less than atmospheric pressure

GTEHTOMMD S(LPSHLD GTGTLIF] SLDSETL cTHEET (GDI&H(ED.

(A) euafloemm @ (5555 DG HSFLTET 2(LPSSD

B)  aafiwen o 2iwss68DE GeopaiTar SiWS5D

©  oveflosin e sipsssAiHe sworer Si@Es0

D) e Cprissafler eualvarm o Si(W&55ms el Siglsb g Gonay

39. Which one of the following system used to protect the building from damage by
exposure to a fire in a adjacent building?

(A) Sprinklers '\AB) Drenchers
(C) Flooding system (D) Fire Extinguisher

THS EUMSWTET & LITGISTLUIL| SienloLiL] a;r;_r;g, R AHED 2 arer sligl HEled @g,@ut_;_@ml_b
gou@b CoasHmHg HLgLsms UTgsETES g ? ‘
A) Qsefliuen (B) grenGam

© Qeudrart] QuEBEE ey D) SweramiuTengsar

029/DD/20 12



40.

At what temperature Orange Color glass bulb type sprinkler heads designed to
operate?

\/@) 57°C - B) 100°C

(C) 182°C (D) 163°C

<} TEhEF s Bir Gsefliurefler gmmuugﬁ aThs Geutiu Hleneuded GuikiEgbd cuamsul
GUlg GUENLDSSLILIL (heTars)?

(A) 57°C | (B) 100°C
(C) 182°C ' (D) 163°C
41. How many times mercury as dense as water?

(A) 10 times ‘ (B) 14.7 times
Ww*TC) 13.6 times D) 16 times
geTem e 6N LUTSTFD eTHSNET DL REIE L TSSWTens)?

(A) 10 wLmG | B) 14.7 wLRE
(C) 13.6 bLEEG (D) 16 wLmg
42.  Example for sublimation
\w"4) Drylce (solid carbon dioxide) B) Ice
(C) Sodium (D) Potassium
USBISLDTSE eTETLISMN @, - STFERTLD 6T 606N ?
Q) soiualésiyg (Sl a6 el 2 denev(H)
(B) uveaflsiig
(©) Gemgwibd
D) QurlLrdlwbd
43. Molecular formula of Butane?

(A) C,H, \»®B) CH,
(C) CH, ®) C,H,

A" CLarflen ppevdgam eumiiiLim(h) ereme?
@A C,H; ® CH,
(© CH, D) CH,

13 ‘ 029/DD/20
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44. What is rubber acid?
(A) Dilute Nitric Acid
(B) Dilute Hydro chloric Acid
MC) Dilute Sulphuric Acid
(D) Carbonic Acid

FULIT LOleLD eTaTLIg;) 6TeuTen ? :
Q) Biss emplils oiflan B) Br5s ean Grr @Germils Sifleld
(C) Biss ab5s Sibleb D) sriureafls odlebd

45.  What is the cause of damage to the hose?

(A) Abrassion (B) Mildew

(C) Shock (D) All of these

B afl® @pmi G&g,mrré_lg,ﬁ)@ STTERTLD GTCITEN? ,

(A) GCsuwse (B) yepeTen

C) =firey (D) Cuwpsmdu ez

46. Which foam concentrate form thin transparent film over the fuel surface?

(A) FFFP (B) Mechanical

(C) Synthetic VD) AFFF

Ths euenswren Hieny erifluyib Clurmetlen G UL OSmE 2 (HeuTHEGLD.

(A) FFFP (B) Qussrefssd
(C) Synthetic (D) AFFF

47.  Which fire extinguisher is called Halon 12117
(A) Bromo - trifluoro - methane \ﬂ) Bromo - chloro - Difluoro methane
(C) Bromo - Dichloro - methane (D) Dibromo - Difluoro methane

Halon 1211-eren SjenpdsliLi(ib SwenanriiLire 6ra)?
A)  yCrrCuwr—LeryerCrm-5sCser

B)  yCyrCwr—@CerrCrr—eaL@sCrr B5Cse6m

C) yCrrGwr—enLErCrm—55Csen

D)  eLyCGrrGor-—eaLLEsCrm-15sCsen

029/DD/20 14



48.

49.

50.

What will happen, if the strainer is nearer the surface of water?

-(A) Water hammer MB) Vortex

(C) Cavitations (D) Vacuum

aug &L ig Bifler Copurlinde QHHSTe eTamen HL&EGW?
(A) earlLfGapwi - B) GCeurrQL&ew
(C) GCsell GLgen (D) Qeupdib gHud

What is another name of the hook ladder?
(A) Pole ladder wB) Roofladder
(C) Folding ladder (D) Short Ladder

Carsdl eranflwen Ceumts QUi ereven? _
(A)  Cure genfl : (B) saenm et
(C) gl eremi D) ©Gydwu e

What shall be Breathing apparatus cylinder minimum content on entry into the risk
area?

(A) 70% of the full capacity
(B) 60% of the full capacity
(C)  50% of the full capacity

\w” D) Not less than 80% of the full capacity

51.

SussTar QL sHle pp&a smell LweTuBSEID Curg flam _fear sTHmn G®DHSE cTalaIaTa|
E)(m&5s Couetm(Hid?

A) Qurss Qsrarararaflay 70% (B) Qursg Qarareareralley 60%
(C) Guorgs Qsrarerereilsr 50% (D) & Qurss Qsrdrererefley 80%

What is approximate composition of Oxygen in the exhaled air?

A) 21% v B 16.96%
C) 12% ' D) 19%

afger Heurdlss Ceueflul@bd srnMled o erer oy sedlamem 2iaTey cTeUaIETE?
A) 21% (B) 16.96%
©) 12% D) 19%
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52.  What is the maximum practical lift of water for the fire service pump?
WTA) 26 feet - (B) 33.1 feet

(C) 38 feet (D) 30 feet
SwenentliL glenm Liblaar LWaTL{HSE Bl Wwapuded ereucene] psSleBHE SarTartany
CuCanm pigujb?
(A) 26 g (B) 33.1 =g
(©) 38 sig (D) 30 =y

53. What is multi stage pump?

(A) A pump having high pressure
(B) A pump having more output capacity

MC) A pump having two or more impeller

(D) A pump attached with primer

Uig. Blened LIDLI eTaimLig)?

(A)  =ifls Sissid 2 6Ter LIDL

B) <=iflsQaeflbliGHib Hmen 2 arar LDL

C) @ran( vz Sisnssanrer QbLiLert QT LLbL

(D)  YenyomLer Fuigw UbL

How do find out the efficiency of pump?

54.
vty E=22.100 ® ZL100
BP WP’
100 WP
O ——— ' )
”  WPxPB | 100x BP

ubGler Simenes eriiuig. Sem® bl Lumi?

@& E="2 100 ® BF 100
BD | WP
100 WP
o 100 WP
© WoxrB D) TooxBP
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55.

What is the functions of column in the building?

(A) Horizontal load bearing member

WB) Vertical load bearing member

(C) _ It supports both end of the building
(D)  All of these

s LLgdle sreb (Column) uenfl eremen?

(A)  HeowlLions erenl_ullenan G560

B) Qerigssrs eren_ullenar SrbiEse _

©C) @asiLLgdar Qrem() pavansEhssenL Gl 2 nigemeaRmureT 2 arerg|
D) CuHEmdlu Siwarssib |

56. What is the standing part of the line?

MA) A line which is made fast ' (B) Aline which is running
(C) -Binding of the end of rope (D) Running bow-line
pevtaflhl GTEITL GTENLIG) 6Teimen?

(A)  slLdul @erer sudbdlen L (B) aslpiler Bambd UGS

©€C) slpder weaeiemen sy maussewr (D) rpeaneflii Cur—ameave
57. Asper NBC - 2005, Part IV circus tents classified as?

(A) D4 (B) D6

1) D7 (D) D5
NBC—éir, ugé IV Lig. #1860 sl 6THS uend HL_LLoms euansUILRESULO S ) ?
Aa) D4 (B) D6
(C)y D7 (D) D5

58.  What is the occupant load to educational building?

(A) 12.5 m?/persons \A%) 4 m?/persons
(C) 0.6 m?%persons (D) 10 m?2/persons

sevedl Hlmieuer s Fdler a@Euem Cam erener?
(A) 12.5.5 persons ' (B) 4 52/ persons
(C) 0.6 52/ persons : (D) 10 8%/ persons -

17 029/DD/20
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59. Carbon dioxide extinguisher is not suitable for which of the followmg materials is involved

in fire? _
(A) Nitrates (B) Chlorates
(C) . Sodium NtD) All of these

BDETL THS S5 STTL6T enl pbanen(® Swaan il QunESsD @)oarss)?
Q)  epLCri e | B) ECeamCrisv
(C) GCemguid D) Cuheadu Simanssb

'60. What is the floor area of the fire lifts?
(A) Not less than 1 Sqm MB) Not less than 1.4 Sqm
(C) Not less than 1.2 Sqm (D) Not less than 1.25 Sqm

& Wengnsdlufer (fire lift) semiugliy eremen?

A) 1legir SlLméE Geopunosd (B) 1.4 sgy SCLm6G @Gﬁmurrmsb
(C) 1.2 sgir Bl (m5E Gepwmoed (D) 1.25 egzyr BLL (5&E GeDWITLOD

61. What is the purpose of stand by generator provision?
(A)- ~ Supply power to staircase and corridor lighting circuits
(B)  Fire lifts
(C)  Fire pump

MD) All of these

Hoobnss AuaCriL i siemwliuger Corés ereman?

(A)  wmglug wpmb sTALT elleré@senss WeanGam b Qgribs) a_@rma;
B) & eaignsdlse uS]eor(Bemrrr_l_LD QBT CuLpEIS

<€ 5 mbqa;@é;@ WlenGerrmL_ib QsmL & cULDREIS

D) Cupmlu s@absid
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62. "Sheer Stress" related to?
(A) Water . (B) Powder

MI) Foam ' (D) Co,

“Sheet Stress” ersayL e QsTLTLEnL-1LIg)?
A)  sewentt (B) ey
©€) mevy (D) Co,

63. Which of the following is not a positive displacement pump?

MA) Force Pump (B) Lift Pump
(C) Rotary Pump - (D) Ejector Pump

EpEMUAL Herer LibLseaied Coirwenn @)L UQUWTES Qawiwirg LbLy
(A)  CGumirev by (B) A uiby
(C) Crmlif uby (D) Qeuaflsemenid LibLy

64. The heatihg of an Iron rod? .
(A)  Flash Over - (B) Convention of Heat
(C) - Radiation of Heat MD) Conduction of Heat

@@y sblew GELDmeusTe Hlapeag? _
@A)  srGer und erflyd Hlena ‘ B) Qaudussdieiss

(C) Qeutugsaemd D) Qeuliuss gz

65. Which one of Fire Extinguisher is most suitable to use in Kitchen Fires?
(A) Foam Extinguisher
(B) Water Co, Extinguisher

W) Co, Extinguisher

(D) DCP Type Extinguisher

SLpaeiT_cuDMIET 6THS eUams SwienammiLimen Fanwwemp & eflugms amswrer HnHss)?
(A) meoy Sweneid ‘ (B) sewrentt Co, Swenantiid
(C) Co, Swenanrnd (D) DCP auena Swenanriid
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66. Which Statement is correct, regarding friction loss?
MA) Friction loss increases with increases in length of pipe
- (B)  Increase with increase in diameter
(C) Decrease with Square of velocity

(D) Decrease with roughness of interior of Pipe

SpEHILIL Peraraupiled erbs sapmi 2 pmiley @iy GHSsl sfurang?
Q)  Gwrler Benbd odafss 2 rmiey @il ofsflseEn

B) Ewrder el Lib fafss 2 grile) @il Siflsfésn

©C) EYwmlear FCrm_L b @@Ly 2Flafss 2 rrie @i Ganub
D) Ewrler 2 ypb sgeariuriy AHsfss 2 rmie) @EUL Genu|b

é’] . Which gas is used as a refrigerating agent in cold storage?
w*®) Ammonia ‘ (B) Chlorine
~ (C) * Methane (D) Ethane

Geflep_(Hb Hleavewrisaie Geaflep (HLb eurujeurs ums&ru@(&,g,ﬂu@b.@uﬁu T ?
(A4)  <uGworeflwr (B) @Carrflen

(C) BsCgan (D) msCsetr

68. ~Helipad provision should be made in the building if height exceeds? 7

w’?) 60mt (B) 300 mt
(C) 50 mt (D) 100 mt
CanaflGul’ cugd B 2 wrsdlnE Guad 2 drer sligl fisafld jepwaaiin L
CouamRo?
(A) 608 (B) 300 B

(C) 50 B i (D) 100 B
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69. Court Halls are classified under as per NBC?
(A) Group A (B) Group B
(C) Group C D) GroupE
Csélw syl elfpopsaiay (NBC) Sdwern simsdr obs s &b
uesLILMSSLIUL (HeTers)?
&) eouA B) emuB
©) e6uC D) eouE

70.  The following terms belongs to?
(1) Head
(i) Heal
(iii) String .
(A) Rope \A?u) Ladder
(C) BAset ' (D) Special Equipments
Sp@MUAL ULl (Hérer eraaiL e Qi emLwig)?
1) sow
(1)  SgliursD
(111) En&ss s LD
(4) sy (B) e
(C). wpéassmei D) Aniiys smellser

71.  As per NBC Automatic Sprinklers are compulsory for Basement if area exceeds
(A) 100 m2 ' - (B) 500 m2

Vw?C) 200 m2 (D) 1000 m?2

Ceélu sy diglpepsafianig (NBC) aréiaera) upiuereipe Guoe .@@aawrrsmrr@ SOTHLD
setsEnE sratiund Cgeafllureaser a;L_l_rru_JLorra;asuul_@aTsr@’?

(A) 100 B2 (B) 500 52
(C) 200 B2 (D) 1000 B2

21 029/DD/20
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72. | As per NBC the provision of Spiral staircase is allowed to the building not exceeding
(A et e b mheiche |
V(B)  Not exceeding 9 m height
(C) Not exceeding 12 m height
(D) Not exceeding 18 m height

NBC —emg ereueuerey 2w - cuenyweTer asﬁ_n_l_réja;@é;@ &P  LOMlg LIl &eneT
audg S sTeTer DensslILHEng? ' |

(A) 15.15-5@ Waroed - (B) 9 b-&@ s

(©C) 12 b-5@ Hsmoed . (D) 18 15-&@ Wsmned

73.  What is the size of mains to be provided for Hotels above 30 meter?

(A) 100 mm . (B) 125 mm
MC) 150 mm (D) 200 mm

30 UL (p&ELD Afsorean e wiFeperar G‘@ﬁ}ﬂ'l;_I_Gi) a;LLq_LréJa;@é;@Q QurmssLiuL Couemrig
semait @wmlern oiare) cTeren?

@A) 100 &1 (B) 12585

©) 15088 D) 200 46

74.  Which is used to lower, insensible persons? :
MA) Chair Knot (B) ReefKnot
(C) Draw Hitch (D) Rolling Hitch

swilenareunmeursenar G @rasL) LWL (Pl & 6TE|?

(&) GCarpml (B) fotpmt
(C) LCyréis (D) Gymedla £ &
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75. Light scatter type, Obscuration type are which type of detectors?

WX) Optical Detector (B) Smoke Detector

(C) Flame Detector (D) Heat Detector
Light scatter type, Obscuration type Gurenpeunenm ereueuanswiren serL_MlelseT?
A)  lugser serledl (B) uyes sarLiled

(C) Ssai sawLilel D) Qeuliib sewr_ed

76.  Calculate the motor power of a pump delivering 2400 litre of water in a minute at pressure

of 6 bars?
W) 24 KW B) 20 KW
(C) 26 KW D) 30 KW

6 Ui Siwssssled @ ﬁlﬂh_g',g]sb 2400 O Lit sawramit QeuaflGupmd LbGen Gom L i

Slnenen senrsSl(Hs.
(A) 24 £iGeor eurl_ (B) 20 ACGer cur_
(C) 26 dGereum_ (D) 30 HCeor urrt_

77.  What is Inwar?
MA) Nickel Iron Alloy (B) Copper Aluminium Alloy

(C) Lead Aluminium Alloy (D) Steel Aluminium Alloy

Qemeurt eremgl?
(A) Hasd, @by swemael (B) Qsiby, igflafub sweaneu

(C) srilwb, Sgdleiuib a;@uému (D)  eurmS by, guudleiuib saeane

23 029/DD/20
[Turn over



78. The SI unit of Heat is?

(A) Calorie \AS) Joule

(C) Newton (D) Centimetre
GQeutinsslen SI eE?

(&)  sGeorfl B g

C) Puylier (D) QaesmgSii

79. What is the equal Value 1 Calorie of Joule?

wA) 4.18J B) 5.18J
(C) 6.18 D) 7.17J

(@ Gl TG THZENET BoNI&EEGE FLOWD?
(A) 4.184J (B) 5.184J
(C) 6.18 D) 7.174d

80. Positive Pressure Means?
VW(A) Higher than atmosphere pressure
(B) Lower than atmosphere pressure
(C) Equal to the atmosphére pressure
(D) None of these

Cpifoamn Sipssid eTamug)

A) euaflbare® (pss5ms el 1Hs Si(WSHLD

(B) euafllwarro (WE55mS 6Nl GMDEUTET DH(LPSSLD
(©)  ausfuein_o SiE558HE Qeemurar SiEsL>
D) Cuon@didL gguloame
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 30 minutes Maximum Marks : 20

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleurer eflevL_wel&@Lb euens eflermggmer

Read the following instructions carefully before beginning to answer the questions.

eflanmésenéE eflenLweflés QsTLRIGD ey SDEE@TL M6 EmeT GEUGTLOTE Lilg &&6LD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.
eflenL_samer @GOG (erer eramrentlsenss@ Sifswrs eripdudmiier, eflasgraflen @miFHude 2 erer
2185 cramranflsansuliorer eflenLger HUTEH QelwiiuLrg). :

o

In case of doubt, English version is the final.

eflarrésatier #bCsaLmLIG 6 2 mda augelld dar@ssiul(Herer ellamssGer @ nidlwirers.

Answer any FOUR of the following questions.
ereeuCuigyitd presE CaerailsendE efle weflssa)ib. (4 x 5=20)
1.  Explain the different types of foam and their properties and proportions.

LIQGUEH ST HIEH] QUEHSSHET WITeneu? ieudmian LIGRTLEET hmib euesiLn(ser Glss edeauf:

)

Write short notes on different types of fire detection and Alarm system.

S&50 UL bOmIb erésflsms omwoly (Alarm system) e euensser wWieneu? Sieweu GHSs Sm
GOILIL eT(pSIs.

[Turn over



’
3. As per NBC Part IV Fire and Life Safety, suggest suitable fire protection measure for

a Hospital Buildings with a height of 27 m.

NBC 2005-6n i 27 B ewpb Qandin. wosgemmnse QuassiuL Cadw
&&sHY srsanmismar LNGg ey QFs.

4. Draw a neat diagram and explain the working of a DCP types extinguisher.
(1 2T LDT6eY SweneRTLILIMET LIL 1D auanfhg g6 Couanablaub eflgsslemen efleul.
5. State the characteristics of a good Hose?
@@ Hnps Hrefl® @Gmi Grggcma;.u_l v senerl Qupdlpés GCeuam(Hib?

6. What is the discharge in liter per minute using a 20 mm Nozzle with a Nozzle

pressure of 4 bar?

4 uri Syssepd 20 .18, e L @pid Qerarri epéi@ (Nozzle) euldlwrs g BBl sl erisene
LT gevorent Geuafl CuipLb?
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